
The Quantity shown may be subject to change
In case of insurgency of  any controversy related to the translation of present document,  the Italian version has official value.

GOBID INTERNATIONAL AUCTION GROUP SRL
VIA P.O. VIGLIANI , 19
20148 MILANO
P.IVA   09441470961

Pag 1

Full List

Law Court of Vicenza
Bankruptcy N. 04/2017

Prog. Description Code Quantity UM
1 PROFILE raw UPRIGHT CPRF-MONR9010 52 kg
2 PROFILE UPRIGHT painted 309 kg
3 CLOSING PROFILE raw 650,6 kg
4 PROFILE GUIDE raw SHUTTER 182 kg
5 CLOSING PROFILE 8017 painted 47,6 kg
6 PROFILE GUIDE ROLLER painted 39,5 kg
7 PROFILE UPRIGHT RAW CPRF-MONR1013 1272 kg
8 PROFILE GUIDE ROLLER raw ORIENTA CPRF-GTPR9010 364,8 kg
9 PROFILE UPRIGHT ORIENTA 9010 CPRF-MONR9010 206,7 kg
10 PROFILE GUIDE ROLLER ORIENTA 9010 CPRF-GTPR9010 53 kg
11 DEADENING GRAY STICKER Cxxx-FAS25 60 sq.m.
12 BRUSH 5 mm Cxxx-SPZ02 2000 ml
13 BAR HEXAGONAL CH13 ZN (4 b.da 3 mt) (1 (0 3.45) Cxxx-E13-FE38ZN 10,4 kg
14 LAMINATE PLATE 30x8 FE380 (1 bar) (28.4 kg / b) Cxxx-PT030X8FE38 79,2 kg
15 TUBULAR 80x30x3 FE380 (3 bars) Cxxx-TB80X30X1F 36 4 ml
16 ROUND DRAWN D8 - FE380 (12 bars) (2.90 kg / b) Cxxx-TNDTR8-F36 5,8 kg
17 PIPE 030 S4 - FE380 (416 bars) Cxxx-TUB30S4FE36 2580 ml
18 TUBULAR OVAL 50x30x3 FE360 (31 bars) Cxxx-TV50X30X3F36 66 ml
19 MOTOR 80 Nm FAAC CELE-MOT8ONM 2 pz
20 MOTOR SHUTTER 30 Nm EDOLINE 2 pz
21 MOTOR SHUTTER 50 Nm EDOLINE CELE-MOT3ONM 2 pz
22 GEARMOTOR TAPP 3 F C. 30 Nm NICE 8 pz
23 SCREW TE M6x12 ZN 300 pz
24 WASHER FOR M6 ZN 2000 pz
25 SCREW M6x10 ZN TBEI 1 pz
26 NUT M8 ZN 1 pz
27 SCREW TCEI M8x85 ZN 400 pz
28 MAPLE THREAD INSERT M5 PCRE-0001WO1R0 100 pz
29 RACK 143 2197 pz
30 BUSH AND EXPANSION X 30x4 PBOC-0003R0 200 pz
31 COMPASS TUBE X 30x4 PBUS-0001R2 200 pz
32 Latch SHORT PNOT-0001R1 200 pz
33 LOCK CAP PTAP-0002R1 169 pz
34 NEXT COUPLE H260 P400 PFLA-0001VVO2R0 36 cp
35 NEXT COUPLE H365 P360 PFLA-000 IWO7R0 60 cp
36 NEXT COUPLE H385 P400 PFIA-0001VVO8R0 38 cp
37 SUPPORT LIMIT ENGINE 045 (ELEROIFAAC) PSUP-011D45R0 36 pz
38 BOX ENGINE ELERO - Nm 50 DX PSCT-0001WO1R0 14 pz
39 SHAFT ELERO PALB-0001RO 248 pz
40 CRANKSHAFT MECC 50 CAME / EDOLINE 16 pz
41 BUSH PBOC-0002R0 1190 pz
42 OIL CUP PCPP-0001R0 1050 pz
43 BUSH LIMIT PBOC-0001 R1 183 pz
44 JOINT RAW NETOMA PGIU-0001R1 160 pz
45 AXIS WHEEL REFERENCE 018 L45 PASS-0001 RO 160 pz
46 AXIS WHEEL REFERENCE D18 L30 PASS-0002R1 480 pz



The Quantity shown may be subject to change
In case of insurgency of  any controversy related to the translation of present document,  the Italian version has official value.

GOBID INTERNATIONAL AUCTION GROUP SRL
VIA P.O. VIGLIANI , 19
20148 MILANO
P.IVA   09441470961

Pag 2

Full List

Law Court of Vicenza
Bankruptcy N. 04/2017

Prog. Description Code Quantity UM
47 AXIS WHEEL REFERENCE D18 L45 PASS-0003R1 1565 pz
48 GEAR 318 "S Z12 PHOSPHATE PPGN-0001RO 892 pz
49 GEAR 318 "D Z12 (SVG -SVR) PHOSPHATE PPGN-0002R0 538 pz
50 PIGNONE m4 Z12 • 318 'Z12 (SVG -SVR) PHOSPHATE PPGN-0003R0 40 pz
51 PIGNONE m4 Z12 - 318 "Z12 SHORT (SVA) PHOSPHATE PPGN-12004R0 52 pz
52 COGWHEEL MI 5-228 Phosphated PRUO-0003R0 454 pz
53 REINFORCING PLATE PPST-008R1 24 pz
54 REINFORCING PLATE THICKNESS PPST-009R0 105 pz
55 SUPPORT BRACKET AXIS REFERENCE H260 PSTA-0004R0 100 pz
56 SUPPORT BRACKET AXIS H280 meshing with left / right joke PSTA-011YSOR1 174 pz
57 ZANCA P2NC-0001R0 310 pz
58 SUPPORT SHAFT SHUTTER PSUP-0007R0 20 pz
59 BRACKET BEARING ROLLER PSTA-0006R0 100 pz
60 BRACKET MOTOR SHUTTER PSTA-0007R0 192 pz
61 SUPPORT ENGINE RIGHT SIDE PSUP-0008R2 103 pz
62 SUPPORT LEFT SIDE ENGINE PSUP-0008T2 136 pz
63 GEAR SUPPORT PSUP-0010R0 20 pz
64 SPRING BRACKET PSTA-0008R1 588 pz
65 COUPLES CENTERER SHUTTER LEFT RIGHT PCEN-0001R0 3000 pz
66 CAP PROFILE SX + dx PTAP-0005R0 2500 pz


	Tabella1

